
Answer to Question #92347 – Math – Statistics and Probability 

Question 

The length of time for long-distance telephone calls from japan to africa has a mean 

of 16 minutes and a standard deviation of 4 minutes. Suppose a sample of 35  

telephone calls is used to reflect on the population of all long-distance calls. Calculate 

the chance that the average of the 35 telephone calls is between 17 and 18 minutes. 

 

Solution 

𝑃(17 < 𝑋̅ < 18) = 𝑃(
17 − 16

4

√35

< 𝑍 <
18 − 16

4

√35

) = 

= 𝑃(1.48 < 𝑍 < 2.96) = 𝑃(𝑍 < 2.96) − 𝑃(𝑍 < 1.48) = 0.0679. 

Answer:  0.0679. 
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